ISt ce [ SHS51XP Sencomatic
VY

MEMBER

Heavy Wire Stapler

Parts Reference Guide
Guia de referencia

de piezas

Pieces Guide

de référence

Schematic Drawings Inside
Plano esquematico en el interior
Schéma intérieur

Repair Kits
VSP-00818
VSP-00819
VSP-00820
VSP-00821
YKO839EU

Verpa Senco BV
Pascallaan 88
8218 NJ Lelystad

The Netherlands
EMEA: www.senco.eu VPHWS51PC - Issued October 13, 2016

© 2016 by Senco Brands, Inc.



Heavy Wire Stapler

# Contents Of VSP-00818 Repair Kit
## Contents Of VSP-00819 Repair Kit Tool # Model
### Contents Of VSP-00820 Repair Kit Loo#
#### Contents Of VSP-00821 Repair Kit
##### Contents Of YKO839EU Repair Kit ﬁ

LB5059EU

EA0296EU

<> BC0872EU
= S ; BC0873EU
KBG671EU — : AL @%

VSP-00814

BC0874EU
AC0546EU

o ;\ BCO866EU

EU DESIGNED PARTS CAN BE DIFFERENT



[ SHS51XP Sencomatic

\KB6676EU

AC0462EU

EU DESIGNED PARTS CAN BE DIFFERENT KB6669EU
AC0465EU

AC0461EU

AC0464EU

LB1303EU

KB7036EU

=

KB7037EU

GB0807EU

HC0365EU

AB0229EU

GA0693EU

KB7034EU

KB6597EU /

KB7035EU

7 KB7041EU

HC0691EU

Available Plugs
(Not Included with Tool)

‘ ; / — PC0480
no

<<ji;;040EU ! GAO701EU Ind. Interchange 38" NPT

KB3588EU % Pe048s 4

FCO880EU ] Body
/ FCO881EU Ind. Interchange 38" NPT
FCO885EU

KB7043EU \ ovtes

FCO880EU KB7042EU Tru-Flate 38" NPT

GC1500EU

PC0475 4

EJ03440 /
& 'HAO288EU | GC1501EU

‘ Tru-Flate 38" NPT

KB7044EU RESTRIGTIVE TRIGGER 4 Recommended Plugs
Plugs shown smaller than actual size




° SHS51XP Sencomatic
SENED Heavy Wire Stapler

REPLACEMENT PARTS LIST « LISTA DE PARTES DE REPUESTO * ERSATSTEILE-LISTE » LISTE DE PIECES DE RECHANGE

PART NO.

VSP-00822.. COVER , EXHAUST.
AB0229EU... MAIN BODY
AC0461EU....BELT HOOK
AC0462EU....COVER ...
AC0464EU...GASKET
ACO0465EU...END CAP.
ACO0546EU... GASKET
BCO866EU... WASHER ..
BCO867EU... SPRING....

CUBIERTA...
CARCASA. ...
GANCHO DE CINTURON....

ABDECKUNG
GEHAUSE

ABDECKUNG .
DICHTUNG ........ ...JOINT
.ABSCHLUBKAPPE.
DICHTUNG ....
... SCHEIBE....
FEDER...

BCO868EU...VALVE, FIRING . VENTIL... \VALVE
BCO869EU... SEAL................ DICHTUNG JOINT
VSP-00823..VALVE ,EXHAUST.. . VENTIL... VALVE
BCO871EU...STOP ........... .PUFFER.. ARRET
BCO872EU... SCHEIBE.... RONDELLE
BCO873EU... ... DICHTUNG

BCO874EU...
BCO875EU....
EA0296EU ...
FCO879EU....
FCO88OEU ... . REIFEN..
FCO881EU....BACK..PLATE ) .PLATTE..

ZYLINDER

~_PLAQUE

FCO882EU...PIN................ . PASADOR........ccoovivciciniiciciieincneeen STIFT ...GOUPILLE
FCO883EU.....FRONT.PLATE.. ..PLATTE..... PLAQUE
FCO884EU ....COVER ... ...COUVERCLE

FCO885EU.... PLATE... .. _PLATTE........... PLAQUE

GAO693EU .. LATCH ASSEMBLY .. . ...DOIGT DE RETENUE D’ASSEMBLEE
GA0701EU...SPRING ROLLER...... ..RODILLO...... ....GALET

GBO0807EU .. MAGAZINE COVER .. ... COUVERCLE i
GB0817EU .. MAGAZINE ASY...... .. MAGASIN D'ASSEMBLEE

GC1495EU .
GC1496EU...
GC1497EU... BOUCHON D’EXTREMITE DE RAIL
GC1498EU... . - ....ARRET

SUPPORT DE FIXATION

GC1500EU... ALIMENTADOR... ...POUSSOIR

GC150TEU...GRIP.......coomciccreee e AGARRADERO ..GRIFF........... ...GAINE EN CUIR

HA0287EU .. TRIGGER ASSY (contact-actuation) ... .. ASAMBLE DE GATILLO .. AUSLOSER ...ENSEMBLE GACHETTE
.. ASAMBLE DE GATILLO .. AUSLOSER ...ENSEMBLE GACHETTE

HAO0288EU .. TRIGGER ASSY (sequential-actuation)...
HCO365EU .. PIN

HC0691EU ...COVER ,SAFETY.
HCO692EU...GUIDE,SAFETY

.. PASADOR....
CUBIERTA ...

HCO693EU...SAFETY ELEMENT ...SEGURO SICHERHEITSVORRICHTUNG.. ....PALPEUR DE SECURITE
HCO0694EU...SAFETY ELEMENT ...SEGURO... SICHERHEITSVORRICHTUNG.. ....PALPEUR DE SECURITE
EJ03440 ..LOWER SAFETY... .. ASAMBLE DE SEGURO .. SICHERHEITSVORRICHTUNG... ...PALPEUR DE SECURITE
KB3588EU...SCREW M4*16... TORNILLO ...SCHRAUBE.... VIS

KB6588EU... SCREW M5*18... TORNILLO VIS

KB6597EU... WASHER ...... ARANDELA ..RONDELLE

KBG669EU... SCREW M5*. TORNILLO VIS
KB6676EU...RING............. ANILLO ... REIFEN...... ...ANNEAU

KB6750EU... SCREW M4*6. TORNILLO VIS
KB7034EU...SCREW M4*10 .. TORNILLO .... SCHRAUBE VIS

KB7035EU...C RING ..... . ANILLO ... ... REIFEN .. ANNEAU

KB7036EU... SPRING RESORTE ....FEDER... RESSORT
KB7037EU...PIN ... PASADOR ... STIFT.

 PASADOR...
TORNILLO...

KB7038EU...
KB7039EU...
KB7040EU...
KB7041EU...
KB7042EU...
KB7043EU...
KB7044EU...
KB7077EU...
KB9828EU... SCREW M4*12
KB9838EU... WASHER .
KB9843EU...PIN....
KB9844EU...
VSP-00824..
KCO865EU...
LBOO10EU....0-RING ....
LBOO14EU....0-RING
LB1303EU...
LB5059EU....

- RESSORT
GOUPILLE

 RESORTE ...
PASADOR....

SICHERUNGSRING ..
.DICHTUNG
....DICHTUNG




